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02.
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Instruction for Q. 1. :

Ahmadabad, Feb. 15, 2016
A team of Indian and German scientists WO " will in Lodai vill
region of Gujrat had found a big fossil of a dinosaur In 1 e ABE

< 3iic skull, jaw,
On Saturday they found more fossils- The new fossils include v. Jaw, and
of fossils has been sent {0 Munich, Oo..:;.m:w

rking near Bhuj in the Kutch

some tecth of dinosaur. A sample

for further testing.

1. The above news tells us about......-
(1) The scicntists (2) Ahmadabad
(3) Germany (4) Dinosaur fossils

dialogue with correct option.

2. Complete the
It's too cold here.

Meena -: I am getting .........-

Mother-: Don't worry dear. I'll bring Sweater for you.

(2) Confused

(1) Bored
(4) Chilled to bone

(3) Tired
¢ the following slogans.

3. Choose the correct option fo
The following slogans are aboul....-e

jﬁ:o will keep it clean, if you don't _

_mcz.. spoil, don't defile ll grow plants not parbage

Qna@ your area clean and cou_.a?_L
(3) Environment (4) Cleanliness

(2) Education

(1) Earth

P.T.O.

0722 { Telugu Set-A

20f32

Instruction for Question No.- 4-6 . Read the passage and choose the correct

option.

Kabir was one of the great persomlities in the history of our country. He lived
hundreds of years ago, but his poemg and teachings are sung with love and
reverence even today. Hindus, Muslims  gikhs, all think of him as a great Guru
teacher and religious figure. Kabir taugy people devotion and humility. He E_.os.u
couplets and (dohas) and short poems Though his compositions are short and
simple they convey profound meaning gnd wisdom.

4. Choose the correct option.
The passage tells us about.........
(1) The history of our country
(2) The information about Kabir-a gaint poet
(3) The different religion
(4) Kabir's childhood

Which 'Hindi' word is mentioned in the passage?

5.
(1) Sung (2) Figure
(3) Doha @) Ago

6. Complete the web by choosing the correct word.

Bl Kabir's Couplets T_ﬂvﬂ

1) Love (2) Reverence

(3) Devotion

'(4) Profound meaning

SPACE FORROUGH WORK
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7. What is the mood in the following short-note ?

Choose the correct optiof.

I'm always there in your hou .
| rest I peace. Words fall short to express my sorrow.

r of need.
May his\her sou
(1) Happy (2) Surprise
(3) Sad (4) Wonder

8. Read the following procedure and choose one correct alternative.
These methods are used for .......-

T

(1) Washing cloths
(3) Making rotis

(2) Making idilis :
(4) Making desserts

9. Read the following riddle and choose one correct option.
I'm tall when I'm young.
I'm short when I'm old.
What am [ ?

(1) Tree (2) Candle
SPACE FOR ROUGH WORK
0722 / Telugu Set-A 4 of 32
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Instruction for Question No. 10-11 ; Read the passage and choose the correct
option.

Grate a cauple oF fhediniiaized E.n:ooa and soak them in a little water. After
a while, you will get a beautiful dark ping_req colour, Add it 1o a bucketful of water.
The red jaswand (hibiscus) flower will give you a deep red colour Dry the petals

of Zendu (marigold). Then you can pywger them to get an orange colour. Even

you can dry the leaves of ncem, mint. corrgnder, spinach 10 get a dry green powder.

If you crush or grind the fresh leaves yg, get dry colours and if you add the e

! S0 1alk 1o your mother to find out what other things
in kitchen can give you safe natural coly,,

to water, you get wet colour,

10. Maich the pairs.

A B
(a) Pink-red
(b) Deepred

(1) Jaswand
(2) Spinach
(c) Green

(d) Orange

(3) Beetroot
(4) Marigold
(1) 1-d; 2-b; 3-a; 4-¢
(3) 1l-c; 2-d; 3-b; 4-a

(2) 1-b; 2-a; 3-c; 4-d
4) 1-a; 2-¢; 3-a; 4-d

11. Choose the correct option for the curect title to the passage.
(1) Colours
(2) Celebrate holi with natural colayg
(3) Celebration

(4) Festivals are colourful

Let's celebrate holi with natural colour.

SPACE FORMUGH WORK

0722 / Telugu Set-A Sof12

Scanned with CamScanner



12. Choose the correc
Hrishikesh was aw
which suits him.

(1) Good, honest, brave
(2) Big, quite, bad

(3) Calmn, nest, ago

¢ alternative.
arded as a ‘best stud

14. Go through the following diagram and choose correct alternative.
2

ent of the year’. Find out three adjectiyeg

The mother asked if
he could see the rainbow.

The mother asked if
I could saw the rainbow,

m.rn mother said
an you see the
Tainbow?"

b _ q _ | 3 4
The mother told that J4 The mother asked if

he could sce the rainbow she can see the rainbow

1 (I 4 @ 1
(3) 3 @) 2

Find out onc correct altemnative of type of tense of underlined word

(4) Big, tall, ball -
When 2 farmer was retuming home from the market, dark cloud 3
13. Choose the correct alternative from the following. the sky. s ouds gathered in
(1) Simple past tense (2) ‘Preséii Gonfinuous tense

: ¢
. & _ i
M”»AM P | (3) Past continuous tense (4) Future continuous tense
[
. 16. Choose two correct alternatives for the following sentences which shows correclt

(1) The sun is not as hot as tea
(2) The candle is hotter than fire
(3) The fire is hotter than candle

(4) The candle is hotter than sun

object and its active voice
My toy had been taken away.

(1) My sister had taken away my lys
(2) My sister has taken away my lys
(3) My sisters had taken away my toys

g* (4) My sister taken away my toys.

0722 / Telugu Set-A
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INTELLIGENCE TEST E

; INTELIGENCE TEST

26. Form a mecaningful word from the lettcrs PTECSIROIND Use numerals |, 2,
for every letter. Find the correct Option from the following that makeg a i 26,2 & 30 B 61 Tow efprel IATS o208 36660 b g0’
meaningful word from the word s0 formed. | SAFBAIDT

553, 1 2 3)5,21 . (@245 e 4
(1) 7,51 @ 3) i (1) | 20003 4 (2) 4 5B 3

Sy SSEnG e

(3) 1 fudcsw 3 (4) 2 Sobcsn 4

27. From the given alphabet series, choose :.5 pair from the given options, which
is at an equal distance from the 11th letter from the right. [select two correcy
alternatives]

27, ogoraTPES S8 D) Wod IETolD eiSoied

HArS E7G0S Mo wioe =3 DAT
(Bock> $OghS BoYCETOB B oSod) &

Q. 28 and 29 Directions : Study the mo:oém:m number series and answer the
guestions that follow :

wwmnwmwmwmnm_&wmwwmnw—uuhmuuwﬁwu

5%y 28 2008w 29 TEL wodired seddosod. m gt

wu:::m:m::mnm:..u::uuﬁu g

k'

i is i i 28, 50AS vodArDEs’ B Joyg LTS ao%«m__&, 5 e A2
28. How many times an odd number is immediately followed by an even number ER o 25 52 & 8% Sorgs duoss aa%&. m.mu i u& =

a0, &
but not preceded by even number. B e g
: : : ) ot T @ san : o
(1)} Six (2) Four iy (3) Five (4) Seven : i ] :
(3) =t _ L W :
. In the given number serics, E_:nr E_E_un_. vmm ooo:ﬂdm —:mrnﬂ _.En.._uun of
times ? 29. a3gpds eowuw.wm% S ol 5,3 FBy, u_upoaq
)2 i L R R )5
SPACE FORIUGH WORK
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Q. 30 and 31 Directions : In the following venn diagram, triangle represents
doclors, circle represents farmers, hexagon represents authors and quadrilateral represeng

QP

/KN

6\

)

ODGQ:ZHH.&.

30. Which of the ».0:05‘..—5@ OﬁSOSm indicate O&Hﬁﬂﬂmnnm who are farmers.

(1) JKLI (2) IEFG (3) EFDC (4) HCLM

31. Which of the following letter indicates doctors who are only authors.
() K @) A
3 M (4) Nonc of the above.

32. Find the position of the 7th letter which is to the left of 12th letter in the given
alphabet series. [select two correct options]

(2) 21st from left
(4) 5st from left

(1) 2l1st from right
(3) 5st from right

33. 150 streamers of different colours are arranged in a garland. The colours follow
a specific sequence, red, yellow, green, blue, violet, white and orange. Which
of the following option will not carry violet coloured stream ? [select the correct
alternatives]

(1) 68 (2) 89 (3) 115 (4) 94

0722 / Telugu Set-A 12 0f 32 P.T.O.

[[ABCDE | FGHIJ | KLMNO | PQRST | UVWXY |

5% 30 28050 31 T6% 5,5 fie ©5)88" Jaonyyt
S808yped’ S ptood SrIuded.

PP, D)d0d" ddod , Fiypes’ SHods BN

30. 5godraio dan sEeei D e5Ted Sadudiy

(1) JKLI (2) IEFG (3) EFDC (4) HCLM
1. E300 Spdo Saln By oX b efTed Srdndd
(1) K @ A MM 4) Sué 3858

Ly

32, ekoranDed SHods GETOS D PY IFY el Ak, Mok Jogcire Mol MYoSol?
(Bt HOGHIS DoYATOR 128 0%0d) :

3 Ed 2 Sod 3PSO (2) dG%0 Hod gBpuiLSO

(3) B DY Bed DEIO (4) 263 2y Med o658

33, ot CoDd Sl AR, Nodn, BHIBy Y, Y ockw oD &1 Btorr 150 d3Tek edloTd.
sond S6cred D 08 Iy S¥To Aot (i K6 Sogcired MBoted)

(1) 68 (2) 89 (3) 115 {4)94

SPACE FORWUGH WORK
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34. Akshay is younger than Vishal by 125 days, Akshay is born on Saturday, 1314

34, 906 s #E05.125 Brres DHYTE LELG o

s, On which day was Jichal poiiE 2 _ ST e BaT L 13 ofsy 3560 s eYpddond IeE nlpds e
(1) Sunday. 10th April 1y 10 H3E, ea>sin
(2) Friday, 16th December (D) 16 &Rowl, HETOZ
(3) Sunday, 9th April 1 (3) 9 b, DO
(4) Thursday 15th December. _ @) 15 daonb, fubiTbin
35. Find the number of quadrilaterals in the given figure. 35806 aducs WE)BS dndo 27 Stes Sy,
1 12 @ s 12 @ 8
& 13 < 14 ._ @ 17 @) 14
. : « 3 DEmyEn S
36. In the following serics, determine the rule and find out the term in place of the 36. Sovgo @208 Irar) 09D B TS0 TIHY sopanimn B3 A e8ea?
question mark. % g 3 g
anyabyanyan | NE N  ZN
23/ o @77 \ 7/ | _
{ (n 18 @ 21
g
(1 18 P 2! | ® 26 @ 23
(3) 26 4) 23 “ :
SPACE FORROUGH WORK Bl
| ; SPACE FOly
|
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Q. 37 to 39 Directions : Identify the ..:w::.ﬂm arrangement of terms given vo_....w? g Y o ﬂ-D—nO.—. UVvy *
and find the correct term in place of the n:d:o: mark. . u_ uo-hu geﬁaaﬂw&luﬂuﬁv 1 Bk, &3 . . i .. :
3 _ : Ty
3Z MSTUNUNMSTSTUNMEBIrMST?22?NMS dg uu.!m-.—.cz—.—zzm.—.m.._,czg. TR
& s MST?2229NMs
(1) UTU (2) STM (3) UTS (4) MSuU 3 () UTU & a1 .
1 SR : 3) UTs
_ R : @& Msu
38.4257186817524257188 752271757 _u‘_.m.ap,... 142571868 IHS R ey o
6K 8, 7 2257 B3 125 @ 1,5 7 : 787
] M0 L 87 Q) 257 OF bt ;
) y : @ 1,57
39. O*A+OX * JA+X O *AO XS0 172 +0 Y3
(1) *Oxa 2BA « xO W O*A+O X #OA+XxO * A s G
. - . (1) *xOxa i
(3 *axD 4) g 2) A*xxQ
) .. *A+0O (3) *Ax0O ..v s

40. Pramod’s present age is double of Ar

%an Harshal was 14 Fu. year. ﬁ.nugn!.n
ges who will be a center

ir's present age. Pramod is younger by 40. 028 38 S 34303 JINE Skt reg
2 years than double the age of Sarv but Harshal is elder by three years, Sciais sond Sapdo Sod eral u—.eu. Sus u&ﬂ.%muu -...‘,.__ou-.__ uﬂ.ﬁnw#n#aﬂu
Krishna, who is elder by three years & ueu&uu 4 Fosy Ea Ga.m.-om.u..&.

arranged in ascending order of their
(1) Pramod (2) Sarvesh

41. In a certain code language ‘SOON’ |
as ‘PPALE’, then how will you wrif

(1) EETHT (2) ETTEH

42. A bus started at 6.40 a.m. travels 2
reach another place which is at a

(1) 2.55 p.m

Scanned with CamScanner
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Q. 43 to 47 Directions— In cach of the following questions, reletion between 3rd
and 4th term is the same as that of between the first and the second. Find the term

to replace the question mark.

i o
43. Equal : Congruent : : Characteristrics « *

(Sclect two correct altcrnatives)

(1) Features (2) Personality (3) Properties (4) terms
44. Water ; H,O @ Salt: : 7
(1) KCI (2) NaOH (3) NaCl (4) HCI
45. 253 : 450 : : 341 : ? [Select two correct alternatives]
(1 360 2512 (3) 146 @) 72
46. MOQ : PRU : : ? : NPS
(1) UWY (2) KMO (3) JHF (4) JLP.
- 47.
: < 2 & D
&2 ] 57
4 e
(1) (2) 3

P.T.0.

18 0f 32

[[ABCDE | FGHIJ TX
KLMNO | p
QRST [ UVWX
Y |

29
43. 50 1 wolrBo 11 070, 1 7
(3ot gD JTYETOR MBadod)

(1) gr (2) Joc

43 Bo0d 47 & 205 3otk dove Somos Sy,
o, sond B DI Asod D Soydug, « b oo o%: ¢4 Sonosin Surds S0cn e S0 L
» L h

S35 Wb osed,

u -
b ey 4) on
4456  HO:: af) ¢! ?
(1) KCL (2) NaOH
G NaCl @ Ml
45.253 1 450 :: 341 : 2
(ot $BGS SoFETOD A, o50d)
2) 512
Lo S ®) 146 @n
46.MOQ : PRU : : 7 : NPS
() UWY (2) KMO
(3) JHF @) ILP
47.
= e it | —m_
N
(2) 3)

0722 / Telugu Set-A
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48 B0t 50 T6% 200 Rytind BT LI

A 5cHE[FoAII [KLMNO [ PaRST [ UVWxY)

Q. 48 to 50 Directions : Study the folloWINg pyramiq,

3%

————e

25
36 33 _ wwm
20 38 4 ‘ uo, 33
32 35 24 12 o uuwm 14
13 26 22 831 o - B G
17 31 19 & 6 30 | 17 37 92 31
18 27 11 3% 23 28 g5 | . omE i 29 16 3
: | 34 23 28 15

48. 20 32 26 : 31 24 14 32 13 37 ¢ ? [Select two correct alternatives)

6 ¢ 31 24 14 :: 32 13 37 : 7(30q,.
(1) 29 31 24 (2)29 22 24 (3) 12 31 16 4) 16 31 12 AR SE2 *Sogs Sogarets Awosed)
(1) 29 31 24 2 2922 24
1929 ::3519:7 Gl 1L 16 @ 1631 12
49, 13 27 : ¥h i 3 49.13 27 :1929::3519:2 .
21 (2) 22 31 3) 21 31 4) 29 16
1 31 : (1 31 21 2 22 31 @Y 2151 @
16
50. 18 27 37 19 34 ? 730
(1) 29 23 (2) 23 16 (3) 29 16 (4) 23 28 50.18 27 37 19 34 22 30
1) 29 23 (2 2316 G) 29 16 A
51. Identify the mirror image of the question figure when a mirror is held as shown

in the diagram.

Question Figure  Answer Figure

B

1 @

(3

(4)

SPACE FORROUGH WORK

0722 / Telugu Set-A
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51. SHTID Aty HAD eI Jom SIncD My

3% e28)8 ware @83 L ,
(1) ) (3) (4)
SPACE FORWgH WoRK
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52. Find out the rule underlying the arraDBement of pumbers in the following

question and choose the correct alternaliVe (4 will replace the question mark,

oo offo o i

) 36 (3) 33

(1) 30 4) 77

O. 53 to 57 Direction— In the mo:oéms,m Serigs, determine the rule underlying the
series and find out the term in place of the question mark.

53. 2, 6, 16, 38, 84, 7 368

(1) 176 (2) 168 (3) 186 4) 178

s DN AAADAQUORAN * °
o AD 2 A @ A O @ A

55. BC, CF, EI, GL, KO, 7 QU.

(1) MS (2) NR (3) MR (4) OR
56. 2, 9, 40, 153, 450, ?
(1) 889 (2) 891 (3) 900 4) 879
57.
(N

2

((tog =)

)

A

(1) 2) 3) (@)

0722 / Telugu Set-A 220f32
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52 Howge 0¥, olnbs vu..u.u"w rso

. 3% Sy R306 D Bopatotan 3508 K Besed.
3 04

TED @) (B 2

o ol “E° Oge

(2) 36

ABCDE | _uoz_H'f/

0] 30
3) 33 @) 77
F S50 DSy 5% Dimyny
) ~ uu.r.v - =

W'D H659% Boycire faad 1B 0364
53.2, 6, 16, 38, 84, 2 , 368

g 53 B0 57 sroge

(1) 176 (2) 168

O AAAD AD Dy
m AD @ Q) A

55.BC, CF, EL GL, KO, 2, QU

(3) 186

HAK - -
3) %@ @ %V@

(4) 178

(1) MS 2) NR
08 ) OR
56.2, 9, 40, 153, 450, 7
(1) 889 @) 891
(3) 900 S
57.

ol =) WiE)
| <) <]

1)
Eg

0722/ Telugu Set-A
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. 58 and 59 Directions— A, B, D, E, F . ei yoys standi i

Q C, . E, F, G, i are the eight boy .Em in
, at an equal distance, 1y g standing next to A to his right
and is in front of

[ABCDE [ FGHIJ

a circle facing cach other
and E is in front of him. B is standing next gy 11 to his right
G. In front of C, to the south D is standing; p, F is not next 1o D.
58. Which direction H is facing ?

(1) North-East (2)  §outh-West

(3) South-East (4) North-West

59, Who is standing to the East ?

(2) B 4) H

(1y C 3) G

Q. 60 and 61 Directions— In the following questions a question figure is given,

Identify its water image from the given altematives.

60. Question Figure  Answer Figure

Answer Figure

Ef G

(1) (2) 3) 4)

e ———

YA

4)

61. Question Figure

9

- SPACE FORROUGH WORK

P.T.0.
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%m_ FOHTI Ty

gy 5B 006 39 T ¢ 18 NaITO momgeyt |

2% & he Sopin 35 D e,
so8" 65029 © DOUE [T, woe 0 (FB0) pu, g

PQRST [ uvwxy |

¥ -
» 5, &7, D, gt 8 2000 Lony HIFS

%. ¢ U
' 508 M%&t@ BADY DY G0d N dey O B BEZY 3o 8
o oD 3% e asd f3 dcusor DendHamds.
e Ty % At 8T e’ uecn&.qun%w.w ‘@’
s » & Jotd 8% Dar
() S
(2) pawd
@) whe m
4) U'a.UMMO
50, 575 8% py ISE Dovd Ay 7
n s
2) »
3 n
) =
56 60 3006 61 & 355)8 Bwg), uew..wwoeuvﬂ_.sovon.
g0. pHUNd BT LS
(1) (2) 3
& )

Yl

dals | fes

(1) )
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Q. 62 to 66 Directions— Find the odd term.

62. (1) Hour-our 2) 0_5___.6_390
(3) There-their ) Seen-5ceh€
63. (1) 327 (2) g44
64. (1) Italy-Rome (2) Qn::m:u:mo_.::

(3) U.S.A-New York {(4) Egypt-Cairo

65. (1) ADH 2) pvy
(3) KNR @) Fm

(1) 2) 4)

67. Different Faces

of a cube with symbols (J, O, A, *, &, and © arc given

below. Symbols on opposite faces Are giyen in the alternatives. Which alternative

shows the symb

5P (T

(1) O and O

ols that are not 00 the opposite faces.

=) |4

(2) A and * (3) X and © 4 O and ®

0722 / Telugu Set-A

P.T.O.

e T DT
LMN
O | PQRST [ Uvwxy |

%. Sr0 66 8" HBITTFIL 306D Bz 1g

s
m.u.ﬁ: fps
(2) wac,
(3 8o
(1) rarectony
L@ 327
63 @ 844 ,
@3 332
4 627

o4. (1) atsd - E%. 5
165 — Hocig, ool e s

(@), ‘omRR S Oy Srgciel),
(4) &2 - 38

n ADH
65- (1 () RVY
3) KNR
L @) FIM
onw. /@
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68. From the following number scries, find th, odd term.
12, 15, 20, 23, 28, 34. 38, 45

4) 45
(1) 34 (2) 20 (3) 28 )

. in code i ‘I eat chappati’ is wrilten as
Q. 69 and 70 Directions— In a certain € _m:m:Lmn e veilicii. a8 OB,

BAN. ‘I sell books® is written as cNO and ‘A o reads books

Then.
69. Which letter is used for the word ‘sell” o
() N . (2) 0O 3) C @ A
70. Which letter is used for the word T" 2
(1) B @cC (3) O 4) N

Q. 71 and 72 Directions—Choose the COrrec; figure from the alternatives which

: o figure.
exactly matches with the question figu

Answer Figur€

71. Question Figure

Answer Figure ;

(1 (2 (3) (4)
j : SPACE FORROUGH WORK

72. Question Figure
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12, 15 20, 23, 28, 34, 38, 45
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d and cut as shown it the question figure. How

: f paper is folde
73. A square shect © pap nfolded. Choose the correct

will the figure look like when the paper is U

alternative.

o+ EAEHEE

- ) ) 3) 4)

74. Find the hidden part of the question figure from the alternatives m1<n=.

SR

@ @) 3) @)

75. Choose the correct alternative to complete the question figure.

S PP ¥

»

a1 @) . ) “
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